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المنوال 
The Mode
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الوسط الهندسي 
Geometric Mean

 G n

ه
 :

)للبیانات المباشرة(

, 2مثال 4 , 8

LOG 2للـ ، ،LOG ، )1
LOG

GM )10 ^ GM LOG.(



١٠

الوسط التوافقي 
Harmonic Mean
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الوسـط التربيعي
Quadratic Mean
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: مثال 
B , E , C , D , A

 :2,3,3,4,2
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A=5 , B=4 , C=3 , D=2 , E=1
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الوسـط الحسابي
The Arithmetic Mean
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الانحراف المتوسط
Mean Deviation
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التبايـن
Variance

.
 :)2(

:N
xxx ,...,, 21

2)سيجما (
:

15، يعمل به     : 
:

101211614131086912147135

.



٢٤

)2s(: ثانيا
2

n هي
 ،nxxx ,...,, : هوs2بالرمز21

:5
 .

9510138

.

  5.8
4

3 4
)15(

3 42

1
2 





 

n
xxs



٢٥

الانحـراف المعياري
Standard Deviation
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المتغير  المعياري والقيم المعيارية
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و التفلطحمقاييس الالتواء
دوال احصائیة

Skewness–kurtosis
دوال اكسل
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طحالتفل
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